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3𝑥2𝑦 × 5𝑥𝑦3

• 𝑎3 𝑎 × 𝑎 × 𝑎
𝑎2𝑏 𝑎 × 𝑎 × 𝑏

•

•

•
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•





2𝑥2 + 3𝑥2 ≡ 5𝑥2 5𝑥4

+/−

1𝑥 0𝑥

𝑥2 𝑥3.

5𝑥2 + 2𝑥3

2𝑥3 + 5𝑥2 7𝑥5

3𝑥2 + 2𝑥2 4𝑥3 + 5𝑥3 8𝑥2 − 3𝑥26𝑥3 − 2𝑥3

2𝑥3 + 7𝑥 + 5𝑥3 + 3𝑥 5𝑥3 + 6𝑥2 − 4𝑥2 − 2𝑥3

5𝑎2 + 2𝑎2 ≡ 7𝑎2

4𝑏3 − 𝑏3 ≡ 4
4𝑐2 + 2𝑐2 − 6𝑐2 ≡ 0𝑐2

9𝑑3 − 6𝑑3 − 2𝑑3 ≡ 1𝑑3

5𝑒3 + 6𝑒2 − 2𝑒3 + 𝑒2 ≡ 3𝑒3 + 7𝑒2



3 × 𝑎, 𝑏 × 4 c × 𝑐

𝑥2 𝑥
𝑥

3𝑎2𝑏 5𝑎𝑏3

2𝑡3 × 3𝑡2

5𝑎 × 3𝑏
≡ 5 × 𝑎 × 3 × 𝑏
≡ 5 × 3 × 𝑎 × 𝑏

≡

7𝑝 × 4𝑞
≡ 7 × × 4 ×
≡ 7 × 4 × ×

≡

6𝑎𝑏

3𝑎 × 2 𝑎 × 2𝑏𝑎 × 𝑏 3𝑎 × 2𝑏

2𝑎𝑏 𝑎𝑏6𝑎

3𝑑 × 4𝑑 ≡ 12𝑑𝑑

6𝑡55𝑡5 6𝑡65𝑡6

3𝑥 𝑦 + 𝑧 + 5𝑦(𝑧 + 2𝑥) 5𝑝𝑞 𝑝 + 𝑞 − 2𝑞2(𝑝 + 𝑝2)

6𝑎 × 3𝑏 × 2𝑎 + 5𝑎𝑏(3𝑏 − 2𝑎)



𝑦

2
0.5𝑦

3𝑎𝑏 × 4𝑏𝑐 ÷ 24𝑎𝑏𝑐.
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360

5 × 7 × 11

7 × 11 × 13

2 × 𝑎 × 𝑏

5 × 𝑎

2 × 3 × 11

3 × 7 × 11

3 × 𝑐 × 𝑑

3 × 𝑑 × 𝑑

6𝑥𝑦

2

6𝑥𝑦

2𝑥

6𝑥𝑦

𝑥

6𝑥𝑦

3𝑦
6𝑥2

2𝑥

6𝑥2𝑦

3x𝑦

18 ÷ 3 18𝑎 ÷ 3

18𝑎𝑏 ÷ 3

18𝑎 ÷ 3a

18𝑎𝑏 ÷ 3𝑏 36𝑎𝑏 ÷ 3𝑎𝑏

24𝑎2 ÷ 6𝑎 30𝑎2𝑏 ÷ 6𝑎𝑏 30𝑎2𝑏 ÷ 5𝑎𝑏2

𝑐

2
2𝑐 0.5𝑐



𝑎𝑚 𝑎𝑛

𝑎𝑚+𝑛

26 × 22 = 212

23 × 34 ≠ 67

𝑥 𝑥1

𝑎6 × 𝑎 = 𝑎7

25 × 23 106 × 106

74 × 78 611 × 612

32 × 34

= 3 × 3 × 3 × 3 × 3 × 3
= 3?

53 × 55

= 5 ×⋯ × 5 × 5 ×⋯
= 5?

25 × 26 = 411

27 × 23 = 2 𝑎7 × 𝑎3 = 𝑎 𝑎7 × 𝑎9 = 𝑎

24 × 2 = 28 𝑎3 × 𝑎 = 𝑎8 𝑎 × 𝑎3 = 𝑎9

26 × 2 = 2 𝑎5 × 𝑎 = 𝑎 𝑎𝑥 × 𝑎𝑥 = 𝑎16



𝑎𝑚 𝑎𝑛 𝑎𝑚−𝑛

𝑎 𝑎1

65 ÷ 63

65 ÷ 63

×,÷

+/−

𝑎6 ÷ 𝑎 = 𝑎5

26 ÷ 22 =
26

22

=
2 × 2 × 2 × 2 × 2 × 2

2 × 2

= 2

37 ÷ 33 =
37

33

=
3 × 3 × 3 × 3 × 3 × 3 × 3

3 × 3 × 3

= 3

27 ÷ 23 = 2 𝑎7 ÷ 𝑎3 ≡ 𝑎 𝑎8 ÷ 𝑎2 ≡ 𝑎

24 × 23 ÷ 26 = 2 𝑏8 ÷ 𝑏4 × 𝑏 ≡ 𝑏4

65 ÷ 63 98 ÷ 94

710 ÷ 76 1012 ÷ 102

10 ÷ 5 is 2, so 
210 ÷ 25 = 22



𝑎𝑏
𝑐
= 𝑎𝑏𝑐

𝑎𝑏
𝑐

𝑎𝑐 𝑏

5𝑥4 3

63 4 = 63×4 = 612

34 2 = 34 × 34 = 3? 56 3 = 56 ×___× ___ == 5?

27 3 = 2 23 7 = 2 55 5 = 5

𝑎4 ≡ 𝑎8 𝑎4 ≡ 𝑎16 𝑎
5
≡ 𝑎40

2𝑥4 3 ≡ 6𝑥12

2𝑥 × 24 = 212 212 ÷ 2𝑦 = 23 22 𝑧 = 212

35 × 36 ÷ 3𝑎 = 320 314 ÷ 3𝑏
3
= 3 × 33 × 3


